[ Efficiency vs vertpos |

0.01

0.009F- -+ -swinseeeseens e s
0.008f+++++eeerieeneeeene R e

0.007
0.006
0.005
0.004
0.003
0.002
0.001

Ja)

.................................................

.................................................

.................................................

VS

0.954

1072

107 1 10

Efficiend

—=— DQM_TT__mkFit_lowpT
—— DQM_TT__mkFit_BDT_lowpT

0.0

0.009F---+-+-emesefoenee
O
O e
T R S
0.00BF-+-+ovteeeessinesees
0.004F -+t wreeinenees
0.003f -+ eeeerderees :
T RTtics Sttt Se T
0.001F--+--- -------- :

Vs

..........................

..........................

..........................

H
T

0.95!

[ Efficiency vs. sim PV z |
0.0

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

0.95, L

P08 6 4 20 2 4 6 8§ 10



	Contents
	Page 1


